
1)  

     

12 points for function lhsa and 8 points for function rhsa 

lhsa(5)=rhsa(5)=1.79731                     lhsa(8)= rhsa(8)=2.670021     (5 points) 

    

       3) 

               = -1,02121                            =-0,13333       (7 points) 

              The output from =Linest(B1:B10;A1:A10;true;true) is: 

 

              therefore r^2=0.993214.                                  (8 points) 

 

     

12 points 

8 points 

 

The fifth order polynomial seems 

to be the best fit, as r^2 is slightly 

closer to 1 in that case (2 points).   

Each of the polynomial equations 

will be awarded 4 points.  

 



2) 

 

4 points for correct loop structure, 8 points for correct computation of C, 4 points for 

correct definition of A and B, 4 points for correct rendering of output C 

 

5 points for getting the correct matrix C 

4) 

 

3 points for variable definitions 

2 points for the input box 

4 points for each of the five if cases 


